zh p% %
AS8BZO 23 6 64 3
ALO697 36 6 96 5

AUBZ6R 0
BONKIM 21 6 59 2
BP6UDY 0
D2CJIYT 0
ESLCBS8 12 30
EG84NK 33 6 89 5
EYD488 6 15
FOHRJV 28 6 76 4
GOWG61D 0
HIRHHG6 0
HKJ7M1 2 5
HTSYLR 0

HX6MO8 37 6 99
IBFDFG 31 6 84 4
ILMD2N 0

ISYOMI 0

J4UQ6X 35 6 94 5
IMY7ZT 20 6 56 2
JODV94 34 6 91 5

(&)

JRYE3B 11 28
KJOS7S 34 6 91 5
LANBGY 0
LDKCJ8 31 6 84 4
LLVKNV 0
M2NKIV 37 6 99 5
NOMOC9 0
OIAZXH 13 33
PS6DDH 18 45
PDBEIG 27 6 74 3
PG7S49 0
PLWQCA4 0
Q4ATWIV 13 33
SLDCWW 0
TCTW64 20 6 56 2
VP2R42 0
VRCJ4B 12 30
VWHAOK 0
WFFVET 0
WZNOBE 0
XHKPC1 12 30
XS91XS 20 6 56 2
ZFUMW 7 18

ZOEOKX 20 6 56 2

% = 2.5*zh+if(zh>19,6,0)
Jegy: 2: 50-62, 3: 63-75, 4: 76-87, 5: 88-...



